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ECONOMICS (SUBJECT CODE - 030)
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General Instructions: -

1

You are aware that evaluation is the most important process in the actual and correct
assessment of the candidates. A small mistake in evaluation may lead to serious problems
which may affect the future of the candidates, education system and teaching profession.
To avoid mistakes, it is requested that before starting evaluation, you must read and
understand the spot evaluation guidelines carefully.

“Evaluation policy is a confidential policy as it is related to the confidentiality of the
examinations conducted, Evaluation done and several other aspects. Its’ leakage to
public in any manner could lead to derailment of the examination system and affect
the life and future of millions of candidates. Sharing this policy/document to anyone,
publishing in any magazine and printing in News Paper/Website etc may invite action
under various rules of the Board and IPC.”

Evaluation is to be done as per instructions provided in the Marking Scheme. It should not
be done according to one’s own interpretation or any other consideration. Marking Scheme
should be strictly adhered to and religiously followed. However, while evaluating,
answers which are based on latest information or knowledge and/or are innovative,
they may be assessed for their correctness otherwise and due marks be awarded to
them. In Class XIll, while evaluating competency-based questions, please try to
understand given answer and even if reply is not from marking scheme but correct
competency is enumerated by the candidate, due marks should be awarded.

The Marking scheme carries only suggested value points for the answers. These are in the
nature of Guidelines only and do not constitute the complete answer. The students can
have their own expression and if the expression is correct, the due marks should be
awarded accordingly.

The Head-Examiner must go through the first five answer books evaluated by each
evaluator on the first day, to ensure that evaluation has been carried out as per the
instructions given in the Marking Scheme. If there is any variation, the same should be zero
after delibration and discussion. The remaining answer books meant for evaluation shall
be given only after ensuring that there is no significant variation in the marking of individual
evaluators.

Evaluators will mark( \ ) wherever answer is correct. For wrong answer CROSS ‘X’ be
marked. Evaluators will not put right (v)while evaluating which gives an impression that
answer is correct and no marks are awarded. This is most common mistake which
evaluators are committing.

If a question has parts, please award marks on the right-hand side for each part. Marks
awarded for different parts of the question should then be totalled up and written in the left-
hand margin and encircled. This may be followed strictly.
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If a question does not have any parts, marks must be awarded in the left-hand margin and
encircled. This may also be followed strictly.

If a student has attempted an extra question, answer of the question deserving more marks
should be retained and the other answer scored out with a note “Extra Question”.

10

No marks to be deducted for the cumulative effect of an error. It should be penalized only
once.

11

A full scale of marks 80 has to be used. Please do not hesitate to award full marks if the
answer deserves it.

12

Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours
every day and evaluate 20 answer books per day in main subjects and 25 answer books
per day in other subjects (Details are given in Spot Evaluation Guidelines). This is in view
of the reduced syllabus and number of questions in question paper.

13

Ensure that you do not make the following common types of errors committed by the
Examiner in the past:-

Leaving answer or part thereof unassessed in an answer book.

Giving more marks for an answer than assigned to it.

Wrong totaling of marks awarded on an answer.

Wrong transfer of marks from the inside pages of the answer book to the title page.
Wrong question wise totaling on the title page.

Wrong totaling of marks of the two columns on the title page.

Wrong grand total.

Marks in words and figures not tallying/not same.

Wrong transfer of marks from the answer book to online award list.

Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is
correctly and clearly indicated. It should merely be a line. Same is with the X for
incorrect answer.)

e Half or a part of answer marked correct and the rest as wrong, but no marks awarded.

14

While evaluating the answer books if the answer is found to be totally incorrect, it should
be marked as cross (X) and awarded zero (0)Marks.

15

Any un assessed portion, non-carrying over of marks to the title page, or totaling error
detected by the candidate shall damage the prestige of all the personnel engaged in the
evaluation work as also of the Board. Hence, in order to uphold the prestige of all
concerned, it is again reiterated that the instructions be followed meticulously and
judiciously.

16

The Examiners should acquaint themselves with the guidelines given in the “Guidelines
for spot Evaluation” before starting the actual evaluation.

17

Every Examiner shall also ensure that all the answers are evaluated, marks carried over to
the title page, correctly totalled and written in figures and words.

18

The candidates are entitled to obtain photocopy of the Answer Book on request on payment
of the prescribed processing fee. All Examiners/Additional Head Examiners/Head
Examiners are once again reminded that they must ensure that evaluation is carried out
strictly as per value points for each answer as given in the Marking Scheme.
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MARKING SCHEME
Senior School Certificate Examination 2025

ECONOMICS (Subject Code-030)
[Paper Code: 58/1/3]
Maximum Marks: 80

EXPECTED ANSWER / VALUE POINTS Marks
SECTION -A
(Macro Economics)
Suppose, the value of Average Propensity to Consume (APC) is 0.8 and National Income
is ¥ 4,000 crores, the value of saving would be X crores.
(Choose the correct option to fill up the blank)
Options:
(A) 100 (B) 200
(C) 500 (D) 800
Ans. (D) 800 1
Suppose, the saving curve of an economy makes an intercept at a negative value of ¥ 50
crores. In the economy, 20% of an increase in income is saved.
In the light of above context, identify the value of investment multiplier (K):
Options:
(A) 2 (B)5
(C) 10 (D) oo (infinite)
Ans. (B) 5 1
In the context of the Commercial Banks, which of the following statements are correct?
(Choose the correct option)
(1) Deposits received are liabilities for Commercial Banks.
(1) They are creator of credit in the economy.
(111) They accept deposits from general public.
(IV) They accept deposits on behalf of Reserve Bank of India.
Options:
(A) (D, (1D, and (111) (B) (1) and (I11)
(C) () and (11) (D) (1) and (1V)
Ans. (A) (1), (I1) and (111) 1
If a country exports goods worth of T 600 crores and imports goods worth of X 450 crores,
the value of Balance of Trade of the country would be of crores.
(A) deficit, 150 (B) surplus, 150
(C) deficit, 1,050 (D) surplus, 1,050
Ans. (B) surplus, 150 1
From the set of terms given in Column-I and Column-11, choose the correct pair:
Column-I Column-11
(a) Non-tax Revenue (i) Goods and Services Tax
(b) Indirect Tax (i) Free-rider
(c) Capital expenditure (iii) Borrowings
(d) Private goods (iv) Rivalrous in nature
Options:
(A) (a) - (i) (B) (b) - (ii)
(C) (o) - (iii) (D) (d) - (iv)
Ans. (D) (d) - (iv) 1
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Read the following statements carefully:

Statement-1: Managed floating exchange rate system is an amalgamation of fixed and
flexible exchange rate system.

Statement-2: Managed floating exchange rate system is also known as ‘hybrid system’.

In the light of the given statements, choose the correct option from the following:

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

Ans. (C) Both Statements 1 and 2 are true.

From the items given in Column-1 and Column-I1, choose the correct pair.
Column-I Column-11
(@) Income from Property (i) Old age pension
(b) Income from Entrepreneurship (i) Profit
(c) Mixed Income (iii) Rent free accommodation from an employer
(d) Compensation of Employees (iv) Interest from capital
Options:
(A) (@) - () (B) (b) —(ii)
(C) (c) — (iii) (D) (d) - (iv)
Ans. (B) (b) — (ii)

Read the following statements: Assertion (A) and Reason (R). Choose the correct option
from those given below:

Assertion (A): Public goods are those goods that are collectively consumed by the public.
Reason (R): Public goods are excludable and rivalrous in nature.

Options:

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of
Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct explanation
of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

Ans. (C) Assertion (A) is true, but Reason (R) is false.

In the context of Current Account transactions of Balance of Payment, identify the incorrect
statement from the following: (Choose the correct option)
Options:

(A) Export of goods and services are recorded as credit items.

(B) Import of goods and services are recorded as debit items.

(C) All transfer payments are recorded as debit items.

(D) All transfer receipts are recorded as debit items.

Ans. (D) All transfer receipts are recorded as debit items.

10.

“Irfaan (a student) borrows % 80,000 to finance his college fee. He plans to begin repaying
the loan six months after his graduation, making payments over a span of ten years.”
Based on above text, identify the indicated function of money.

(Choose the correct option)

Options:
(A) Medium of Exchange (B) Unit of Account
(C) Standard of Deferred Payments (D) Store of Value

Ans. (C) Standard of Deferred Payments
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11. | Calculate the value of Net Value Added at Factor Cost (NVARc):

(@) S. No. Particulars Amount
(In X crore)

(i) | Operating Surplus 3,740
(if) | Increase in unsold stock 600
(iii) | Sales 10,625
(iv) | Purchase of raw materials 2,625
(v) | Consumption of fixed capital 500

(vi) | Subsidies 400

(vii) | Indirect taxes 1,200

Ans.

Net Value Added at Factor Cost (NVAFc) = (iii) + (ii) — (iv) = (v) = {(vii) — (vi)} 1%
= 10,625 + 600 — 2,625 — 500 — {1,200 — 400} 1
=% 7,300 crore Y2

OR 3

(b) | Distinguish between Net Factor Income from Abroad (NFIA) and Net Exports (X - M).

Ans. Net Factor Income from Abroad (NFIA) is the difference between factor income | 1%

received from the rest of the world and factor income paid to the rest of the world.
Whereas;

Net Exports (X — M) is the difference between the value of exports of goods and services | 1%

and the value of imports of goods and services.

12. | “All consumption goods are durable in nature.”

Defend or refute the given statement with the help of a suitable example.

Ans. The given statement is refuted. Consumption goods can be categorised as durable
and non-durable. Non-durable consumption goods, such as food, have a shorter 3
lifespan. Whereas durable consumption goods, like cars and home appliances, can be
used over an extended period usually more than one year. Hence, not all consumption
goods are durable in nature. (To be marked as a whole)

13. | “Inthe recent Budget the Government allocated funds for construction of new metro lines in
smart cities to improve public transportation and reduce pollution.”

Identify the nature of government expenditure & its objective.

Ans. The highlighted statement exhibits the Capital Expenditure as it leads to the
creation of assets of the government.

The indicated objective of the government budget is the ‘Allocation Function’. With
the allocation of funds for the construction of new metro lines in smart cities, the 4
government seeks to improve public transport/infrastructure, reduce environmental
pollution, and promote sustainable urban development, thus contributing to overall
economic growth and social welfare. (To be marked as a whole)

14. | Suppose in an economy, primary deposits are X 500, if the Reserve Ratio is 25%. Estimate
the total deposits created and the total lending by the banking system.
Ans. Given, Primary Deposits = ¥ 500

Reserve Ratio = 25%

. . 1 1

Total deposits = Primary depos;ts S ——— "
=500 x E 1,
=¥ 2,000
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Total lending = Total deposits — Primary deposits 1

= 2,000 - 500 Y
=%1,500 Y
4

15. | Inan economy; C =200 + 0.75'Y (where C is consumption expenditure and Y is National
(@) | Income). Investment expenditure is X 4,000 Crore.

Calculate the following:

(i) Equilibrium level of income.

(i) Total consumption expenditure at equilibrium income level.

Ans. Given,
C=200+0.75Y
Investment Expenditure = X 4,000 crore
As we know,
(i) At equilibrium level of income, Y=C + | 1%
Y=200 + 0.75Y + 4,000 1
Y =% 16,800 crore Y%

(i) Total consumption expenditure at equilibrium level of income =200 + 0.75 Y
=200 +0.75(16,800) | %

=% 12,800 crore Y5
OR 4
(b) | Explain the adjustment mechanism in case ex-ante savings are greater than ex-ante
investments.
Ans. When ex-ante savings are greater than ex-ante investments, it means households
are planning to consume less than what the firms expected them to consume. 4

This will lead to unintended accumulation of inventories. To bring back the inventory
to the desired level, producers may intend to decrease production in the economy. This
mechanism will continue till the equilibrium is reinstated.

(To be marked as a whole)

16. | Read the following text carefully:

Union Food and Consumer Affairs Minister said that the Central Government has taken many
proactive steps in the past few years to control retail prices of food items. He said that the
government aims to keep inflation under control without compromising the country’s
economic growth. Retail inflation inched up to a three-month high of 5.55% in November
2023 driven by higher food prices. Inflation has been declining since August 2023, when it
touched 6.83%. 140 new price monitoring centres had been set up by the Central Government
to keep a close watch on wholesale and retail prices of essential commodities.

The Government has banned the export of many food items like wheat, broken rice, non-
basmati white rice, onions etc. It has also reduced import duties on edible oils and pulses to
boost domestic supply and control price rise.

On the basis of the given text and common understanding, answer the following questions:
(a) Mention the number of new price monitoring centres set up by government.

Ans. 140 new price monitoring centres had been set up by the Central Government. 1

(b) State any two proactive measures taken by government to boost domestic supply and
reduction in prices.

Ans. Two proactive measures taken by government to boost domestic supply and
reduction in prices are:

e Ban on the export of many food items. 1
e Reduction in import duties on edible oils and pulses.
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(c) Explain any one monetary measure used to control inflation.

Ans. To deal with the situation of inflation, the Central Bank may increase the repo

rate.

An increase in repo rate will force commercial banks to increase their lending rates

making the credit costlier. Thereby, discouraging the borrowings by the general public| 3

and leading to a subsequent fall in the Aggregate Demand. Thus, controlling the

problem of inflation in the economy. (To be marked as a whole)
(Any other valid measure to be awarded marks)

17. | (i) Explain any two precautions to be adopted while estimating National Income by Value-
(@) | added method.
Ans. Two precautions to be adopted while estimating National Income by Value added
method are:
e Value of intermediate goods should not be included as it leads to the problem of | 11,
double counting.
e Sale and purchase of second-hand goods should not be included as it does not | 1%
add to the flow of goods and services in the economy in the current year.
(Any other valid precaution to be awarded marks)

(i) “Higher Gross Domestic Product (GDP) always means higher per capita availability of
goods in the economy.”
Defend or refute the given statement as the index of welfare of the people of that country.
Ans. The given statement is refuted. Gross Domestic Product (GDP) may not affect the
welfare of all the sections of the society in the same dimension. This is because a given 3
rise in GDP may not increase the per capita availability of goods due to concentration
in a few hands. For the rest, the income may have fallen. In such a case, the welfare of
the entire economy may not increase despite the increase in GDP.

(To be marked as a whole)

OR 6

(b) | (i) Distinguish between Stock and flow variables, using suitable examples.
Ans. Stock variables refer to those variables which are measured at a particular point 1

of time.

Example: National Wealth Yo
Flow variables refer to those variables which are measured over a period of time. 1
Example: National Income (Any other valid example to be awarded marks) Yo

(i) Explain the components of ‘Profit” as per Income Method of estimating National Income
(NNPkc).

Ans. The components of ‘Profit’ as per Income Method of estimating National Income
(NNPrc):

e Corporate Tax: Taxes imposed on the income made by the corporations (or 1

private sector firms).

e Undistributed Profits: Part of the profit earned by the private and government- 1

owned firms which are not distributed among the factors of production.

e Dividend: The residual profit which is distributed among the shareholders 1

(owners of capital).
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SECTION -B
(Indian Economic Development)

18.

“It is short-term unemployment occurring, as people transit between jobs.”
On the basis of the given definition, identify the type of unemployment indicated.
(Choose the correct option)
Options:
(A) Disguised Unemployment
(B) Seasonal Unemployment
(C) Open Unemployment
(D) Frictional Unemployment
Ans. (D) Frictional Unemployment

19.

Read the following statements carefully: Assertion (A) and Reason (R). Choose the correct
option from those given below:

Assertion (A): Prior to economic reforms, public investment in social infrastructure by
China resulted in better Human Development Indicators (HDI).

Reason (R): China is ahead of India and Pakistan on many Human Development Indicators
(HDI).

Options:

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of
Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct explanation
of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

Ans. (B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct
explanation of Assertion (A).

20.

Study the following image carefully:

Identify, the trade practice that has successfully replaced foreign goods with domestic
production.

Options:
(A) Export Promotion (B) Export Substitution
(C) Import Proliferation (D) Import Substitution

Ans. (D) Import Substitution
Note: The following question is for the visually impaired candidates only, in lieu of
Q. No. 20.
refers to a trade policy aimed at reducing reliance on imported goods by
encouraging domestic production.

Options:
(A) Export Promotion (B) Export Substitution
(C) Import Substitution (D) Import Proliferation

Ans. (C) Import Substitution
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21. | From the following terms given in Column-I, match the correct pair of meaning given in
Column-1I:
Column-I Column-I1
(a) Human Development Indicator (1) Rule of Law
(b) Demographic Indicator (i) Constitutional Protection
(c) Special Economic Zone (iii) Generation of additional economic activities
(d) Commune System (iv) Collective industrialisation
Options:
(A) (@) — (i) (B) (b) — (i)
(C) (c) —(iii) (D) (d) - (iv)
Ans. (C) (c) — (iii)
22. | Read the following statements carefully: Assertion (A) and Reason (R). Choose the correct
option from those given below:
Assertion (A): Human capital formation increases the rate of participation of population to
economic activities and leads to economic growth.
Reason (R): Rate of participation of people refers to the percentage of people engaged in
production process of a country.
Options:
(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of
Assertion (A).
(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct explanation
of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.
Ans. (B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct
explanation of Assertion (A).
23. | Indiais NOT a member of which of the following regional/global economic grouping?
(A) BRICS (B) SAARC
(C) G-20 (D) G-7
Ans. (D) G-7
24, sector was the primary focus of the Great Leap Forward in China.
(Fill up the blank with correct option)
Options:
(A) Tax (B) Industrial
(C) Financial (D) Educational
Ans. (B) Industrial
25. | Study the following picture:

Identify and select, the recent phenomenon in which demand for resources surpasses their

supply.
Options:
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(A) Economic growth (B) Environmental crisis
(C) Technological advancement (D) Cultural evolution
Ans. (B) Environmental crisis

Note: The following question is for the visually impaired candidates only, in lieu of
Q. No. 25.
Identify, which of the following is NOT one of the strategies for Sustainable Development.
Options:
(A) Use of non-conventional sources of energy
(B) Use of fossil fuel for transportation
(C) Use of traditional knowledge
(D) Use of organic compost manure
Ans. (B) Use of fossil fuel for transportation

26.

Read the following statements carefully:

Statement-1: Hired workers may be regular salaried workers or casual workers.
Statement-2: Regular salaried employment is a major source of employment in rural areas
in India.

In the light of the given statements, choose the correct option from the following:

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

Ans. (A) Statement 1 is true and Statement 2 is false.

27.

From the terms given below in Column-I and Column-Il, choose the correct pair of
statements:
Column-I Column-I1

(i) Subsidies (a) Maximum quantity of goods
that can be imported

(i) Land ceiling (b) Element of IPR 1956

(ii1) Small Scale Industries (c) Land to the tiller

(iv) Modernisation as a goal (d) Change in social outlook

of five year plan

Options:

(A) () - (a) (B) (ii) - (b)

(C) (iii) — () (D) (iv) — (d)

Ans. (D) (iv) — (d)

28.

Distinguish between Physical Capital and Human Capital.
Ans. Physical capital are the assets (plant and machinery, building etc.), which are
tangible in nature. It is separable from its owner. It can be transacted in the market.
Whereas;
Human capital refers to the stock of knowledge, skill and ability imbibed in the owner
of the same, i.e., human capital is inseparable from its owner. It cannot be sold in the
market, only its services can be sold in the market.

1Y%

1%

29.
(@)

“Cooperatives have received a setback during the recent past.”

Justify the given statement with valid explanation.

Ans. Cooperative marketing has supported farmers in obtaining fair prices for their
produce in the market. However, in recent times, they have encountered several
challenges, including:
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(b)

¢ inadequate coverage of farmer members

¢ insufficient connection between marketing and processing cooperatives

¢ inefficient financial management (To be marked as a whole)

OR

Explain the reasons behind less number of regular salaried employees in rural areas as
compared to urban areas.
Ans. In India, rural areas have lesser number of regular salaried employees compared
to the urban areas, as:

o most of the rural workforce is involved directly/indirectly in their farm and
other allied activities.
o regular salaried employment opportunities require skills and qualifications,

which are generally not accessible to the rural population.
(To be marked as a whole)

30.
(@)

(b)

Describe briefly the rationale behind choosing ‘Self-reliance’ as a planning objective for the
Indian economy.
Ans. ‘Self-reliance’ was adopted as a central planning objective in India's development
strategy by the policymakers due to the following reasons:
e To reduce the dependence on foreign nations, the stress was laid on mobilising
domestic resources.
e It was feared that the dependence on imported food supplies, foreign
technology, and foreign capital may increase foreign interference in our policies.
(To be marked as a whole)
OR
Explain how, the Goods and Services Tax (GST) has simplified the multiplicity of taxes on
goods and services.
Ans. Goods and Service Tax (GST) is the single comprehensive indirect tax. Under
GST, tax is imposed on the basis of value addition at each stage of the movement of
goods and services. It has replaced large number of indirect taxes levied on
production/sale of goods or provision of service.
Thus, GST ensures uniformity, reduces tax burden, prevents cascading effects, and
enhances ease of doing business across the country. (To be marked as a whole)

31.

(a) “In the mountainous regions, mini-hydel plants prove to be cost effective as well as eco-
friendly.” Justify above statement with valid arguments.

Ans. In mountainous regions, most of the streams are perennial. Mini-hydel plants
channelise the energy of such streams to move small turbines which generate electricity
that can be used locally. Furthermore, such power plants are more or less environment-
friendly as they do not change the land use pattern. In addition to this, they also do
away with the need for large-scale transmission towers and cables. Thus, avoiding
transmission loss and prove to be cost effective. (To be marked as a whole)

(b) Define Carrying Capacity.
Carrying Capacity implies that the rate of resource extraction should remain below the
rate of regeneration and the generation of waste should remain within the absorptive
capacity of the environment.

32.

Describe the path of developmental initiatives taken by Pakistan for its economic
development.
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Ans. Pakistan adopted a mixed economy model with the co-existence of public and
private sectors. A variety of regulated policy frameworks were initiated to ensure
import substitution-based industrialisation.
The introduction of Green Revolution led to the mechanisation of agricultural
procedures. An increase in public investment in infrastructure changed the agrarian
structure drastically. Pakistan also nationalised its capital goods industries. Later on,
economic reforms were initiated to encourage privatisation.

(To be marked as a whole)

33.

Read the following text carefully:

Agro-startups and rural enterprises are becoming increasingly vital for rural development in
India. They address the critical challenges faced by rural sector in India. These ventures bring
in technological innovations such as precision farming, 1T-based monitoring system and
data-driven decision-making tools that enhance productivity and resource efficiency.

By streamlining supply chains and creating direct market linkages, they ensure better pricing
for farmers and reduce dependency on traditional intermediaries. Such enterprises contribute
actively to employment generation in the rural areas. The government has demonstrated a
continuous policy and financial support for agri-startups and entrepreneurs through various
programs like RKVY-RAFTAAR, the Agri-infrastructure fund and Agri-SURE.

On the basis of given text and common understanding, answer the following questions:

(a) Explain, how agro-startups address the critical challenges faced by the agricultural sector.
Ans. Agro-startups address the agricultural sector challenges by:
e technical innovation such as precision farming, I T-based monitoring system and
data-driven decision making tools.
e streamlining supply chains and creating direct market linkages which may lead
to better pricing. (To be marked as a whole)

(b) Comment on the role of government in supporting agro-startups and entrepreneurs in
India.

Ans. The government has demonstrated continuous policy and financial support for
agri-startups and entrepreneurs through various programs like RKVY-RAFTAAR,
the Agri-infrastructure fund, and Agri-SURE. (To be marked as a whole)

34.

()

Giving valid reasons, state whether the following statements are true or false.

(i) There was growth in agricultural sector due to expansion of aggregate area under
cultivation, during the colonial era.

Ans. True. While agricultural productivity declined during the colonial period, the
sector witnessed some growth in absolute terms due to the expansion of the total area
under cultivation.

(ii) The objective of World Trade Organization (WTQ) is to establish a rule-based regime, in
the world trade.

Ans. True. The World Trade Organization (WTQO) aims to establish a rule-based
trading regime in which nations cannot place arbitrary restrictions on trade to ensure
optimum utilisation of world resources and protect the environment.

XII_030_58/1/3 Economics_2025 # Page-12




(iii) Economic growth with regional disparity was the main goal of planning in India.
Ans. False. Economic growth with regional equality was the main goal of planning in 2
India. The aim was to promote industry in backward regions to reduce regional
disparities.

OR 6

(b) | (i) Distinguish between:

(1) Tariff and non-tariff barriers
Ans. Tariff barriers refer to the restrictions on imports by a government in the formof | 1%
taxes. Whereas, non-tariff barriers are the restrictions on imports by a government in
the form other than taxes mainly including restrictions on the quantity and quality of
goods imported.

(2) Bilateral and multilateral trade

Ans. Bilateral trade refers to the exchange of goods or services between two countries. | 1%
Whereas, multilateral trade is the trade by a country with more than two nations to
exchange goods and services.

(ii) “Small-Scale Industries require a shield against large scale industries.”

In the light of the given statement, elaborate the steps initiated by the government

in this direction.

Ans. The steps initiated by government to shield the small-scale industries (SSIs) were:
e The production of several products was reserved for SSls, depending upon their

ability to manufacture these goods. 3
e They were given concession such as lower excise duty and bank loans at lower
interest rates. (To be marked as a whole)
6
%k Xk ¥
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Marking Scheme Hindi Medium
Strictly Confidential
(For Internal and Restricted use only)
Senior School Certificate Examination,2025

ECONOMICS (SUBJECT CODE - 030)
PAPER CODE - 58/1/3)

General Instructions: -

1

You are aware that evaluation is the most important process in the actual and correct
assessment of the candidates. A small mistake in evaluation may lead to serious problems
which may affect the future of the candidates, education system and teaching profession.
To avoid mistakes, it is requested that before starting evaluation, you must read and
understand the spot evaluation guidelines carefully.

“Evaluation policy is a confidential policy as it is related to the confidentiality of the
examinations conducted, Evaluation done and several other aspects. Its’ leakage to
public in any manner could lead to derailment of the examination system and affect
the life and future of millions of candidates. Sharing this policy/document to anyone,
publishing in any magazine and printing in News Paper/Website etc may invite action
under various rules of the Board and IPC.”

Evaluation is to be done as per instructions provided in the Marking Scheme. It should not
be done according to one’s own interpretation or any other consideration. Marking Scheme
should be strictly adhered to and religiously followed. However, while evaluating,
answers which are based on latest information or knowledge and/or are innovative,
they may be assessed for their correctness otherwise and due marks be awarded to
them. In Class Xll, while evaluating competency-based questions, please try to
understand given answer and even if reply is not from marking scheme but correct
competency is enumerated by the candidate, due marks should be awarded.

The Marking scheme carries only suggested value points for the answers. These are in the
nature of Guidelines only and do not constitute the complete answer. The students can
have their own expression and if the expression is correct, the due marks should be
awarded accordingly.

The Head-Examiner must go through the first five answer books evaluated by each
evaluator on the first day, to ensure that evaluation has been carried out as per the
instructions given in the Marking Scheme. If there is any variation, the same should be zero
after delibration and discussion. The remaining answer books meant for evaluation shall
be given only after ensuring that there is no significant variation in the marking of individual
evaluators.

Evaluators will mark( \ ) wherever answer is correct. For wrong answer CROSS ‘X’ be
marked. Evaluators will not put right (v) while evaluating which gives an impression that
answer is correct and no marks are awarded. This is most common mistake which
evaluators are committing.

If a question has parts, please award marks on the right-hand side for each part. Marks
awarded for different parts of the question should then be totalled up and written in the left-
hand margin and encircled. This may be followed strictly.
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If a question does not have any parts, marks must be awarded in the left-hand margin and
encircled. This may also be followed strictly.

If a student has attempted an extra question, answer of the question deserving more marks
should be retained and the other answer scored out with a note “Extra Question”.

10

No marks to be deducted for the cumulative effect of an error. It should be penalized only
once.

11

A full scale of marks 80 has to be used. Please do not hesitate to award full marks if the
answer deserves it.

12

Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours
every day and evaluate 20 answer books per day in main subjects and 25 answer books
per day in other subjects (Details are given in Spot Evaluation Guidelines). This is in view
of the reduced syllabus and number of questions in question paper.

13

Ensure that you do not make the following common types of errors committed by the
Examiner in the past:-

Leaving answer or part thereof unassessed in an answer book.

Giving more marks for an answer than assigned to it.

Wrong totaling of marks awarded on an answer.

Wrong transfer of marks from the inside pages of the answer book to the title page.
Wrong question wise totaling on the title page.

Wrong totaling of marks of the two columns on the title page.

Wrong grand total.

Marks in words and figures not tallying/not same.

Wrong transfer of marks from the answer book to online award list.

Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is
correctly and clearly indicated. It should merely be a line. Same is with the X for
incorrect answer.)

e Half or a part of answer marked correct and the rest as wrong, but no marks awarded.

14

While evaluating the answer books if the answer is found to be totally incorrect, it should
be marked as cross (X) and awarded zero (0)Marks.

15

Any un assessed portion, non-carrying over of marks to the title page, or totaling error
detected by the candidate shall damage the prestige of all the personnel engaged in the
evaluation work as also of the Board. Hence, in order to uphold the prestige of all
concerned, it is again reiterated that the instructions be followed meticulously and
judiciously.

16

The Examiners should acquaint themselves with the guidelines given in the “Guidelines
for spot Evaluation” before starting the actual evaluation.

17

Every Examiner shall also ensure that all the answers are evaluated, marks carried over to
the title page, correctly totalled and written in figures and words.

18

The candidates are entitled to obtain photocopy of the Answer Book on request on payment
of the prescribed processing fee. All Examiners/Additional Head Examiners/Head
Examiners are once again reminded that they must ensure that evaluation is carried out
strictly as per value points for each answer as given in the Marking Scheme.
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3 FiorT Rt vy
iR wpa aféfthade uier, 2025
AYRA ( fawy H1s -030)
[UY-UF HIS : 58/1/3]

SferHan 3w : 80

0.3 Jriféra s/ fag '

s - ®
@HfY =)

1. | A fifor, sied ITHT Ughi (APC) &1 e 0.8 § a 3T 4,000 RIS &, Al q9d PI
g3 @IS gl faemed gRT Rad =M &1 gfd #11)
fdpeq:

(A) 100 (B) 200
(C) 500 (D) 800
I - (D) 800
2. | A AT, fordlt SricaeT o1 9ad deh 3 50 RIS b BUNHD Jed UR 3aRTY (intercept) T

21 refoqaeur &, 3 # 9fg 1 20% sad & U H @M oIl 8|
S deH & fTelie H, =1 Ui (K) & Jed DI Ugd™ He|

faoeu:
(A) 2 (B)5
(©) 10 (D) () 3Hd
I - (B) 5
3. | dat & Gl & FoRfd A9 o S v 9 § 2 (W) faped &1 =90 R 1)
(1) Sl % forg ST ST gt 3|
(1) 3 3rforaeyr ® Irg goieh B1d B
(1) T ST ST T AT TWHR B 8
(V) ¥ YR Ro7d 96 Pt 3R F SHT WHR B 3
fawea:
(A) (1), (I1) T (Il (B) (I1) @ (IIN)
© (g (D) (ha (V)
I - (A) (), (1) T (1)
4. | gRa IS MY % 600 PRV T AIC Tl B & T % 450 PRIS DI AN A DAl 8, ol Y
S AMRIGA P IAS DI g
(A) 150, el (B) 150, TS
(C) 1,050, TTeT (D) 1,050, 3=y
3R - (B) 150, =AY
5. | PIaH-1d DlaH-Il H 4T T Uci & JHg H Y ol g BT 99 B ;
HITH-1 HITH-1I
(a) TR-TR IoI (i) T T JaT IR
(b) AUIE h (ii)HCH@T(Free—rider)
(c)quﬁﬂﬂm (iii) BT
(d) T-Ioft T (iv) TfgETEHS Ui
A
(A) (a) - () (B) (b) - (i)
(@ (o) - (iin) (D) (d) - (iv)
I - (D) (d) - (iv)
6. | FufciRed syl &1 YD 3eqd- B :

HYF 1 : Jafdd fordt fafm <= yonell fRRR 3 7= fafwg ar yummedt &1 v game g1
HYF 2 : JafId el fafFma e yuredt o1 ggfes yune & U § i S ST g1
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feu U HyAl & 3iTelie |, Hgfeiiad # ¥ gl faded &1 Ia Hifore :
(A) BYT 1 I § 3R YT 2 3T B

(B) YT 1 3T § 3R HY 2 A 7

(C) BYF 1 3R 2 S T B

(D) BUT 1 3R 2 T 3 B

I - (C) PYT 1 3R 2 QI I B

BIeH-| T PIGH-II H & TS Hal # 3 el T 1 90 Piror
PIeH-| Pred-I
(a) HURT ¥ 3T (i) FeSTaRIT U=
(b) ITHRAA I 3T (ii) ATy
(c) Tf%ra sma (iff) T-TaerTT GRT et foh=ram o Sy
(d) HHATRTT BT G3HTTST (iv) Iolt R =1
fawey
(A) (a) - () (B) (b) - (i)

(© () - (iii) (D) (d) - (iv)
3R - (B) (b) - (ii)

ﬁgﬁr@ggwﬁ-eﬁ\%w (A) d BRUI (R) DT 3T | -id faT 7T fasbedl # 4 Tal fddbey

CARCRL] :

grf\‘l-laiu? (A) : TS TEIL 9 Y 8, FSFHT SUHNT SFaT gRT Ifes &0 ¥ fHar Srar
|

HRUT (R) : HTdoi-eb TG Sfepd Td UdgaTeed Tpid &1 gl 8|

(A) aifypeT (A) T BRUT (R) T T g dUT DRI (R), ATHBYT (A) DI TgI TR B |

(B) 3{%%24:{ (A) T BRUT (R) T T & AfpT PR (R), UHBUT (A) BT Jet SRAT Tl
PRATEI

(C) ATYHYT (A) T B, Afhd HRUT (R) 3T B

(D) 3IfHBHYUT (A) 3T B, AfhT PRI (R) I &

IR - (C) AFHBY (A) T §, Afh FRUT (R) 3 2l

YT Sda & d1e @Td e & GaH 8, Fufifad 3 Q 38d S & UgdH &v;
(To! [ddhed &1 g oY)

(A) TEHT 3R Jarsit & Fafd &) Hfge Ael F = T ool far ST 8|
(B) TR 3R Tarafi & 3mard o Sfae Hel b T4 & gof a1 S g
(C) TH! BT YT SfIe Hal & U H &l [$T Si1d &
(D) ! gRafeRYr UTferal Sfde wal & wu H <ol & Sirell &
SR - (D) Tt gwaiaR YT Wittt 3fde dgl & U # got @1 ATt 3

10.

"ZB (TP BH) 7 3T Hicrs B B & ol % 80,000 HT FHUT fordT €1 I8 Wb g & 38
18 918 B JHMHT YRY FRA Bt AroH1 81 %81 8, o 98 10 I @ 3rafy & gawramm|”

SR T & YR R & & (GY H &1 Uga™ B (e fashed &1 9a H9)
(A) fafm &1 aream (B) TTd &1 SHTS

(C) I YT BT AHDH (D) I =

I - (C) IR YT &1 UFD

11.

(@)

1 AT R Y o 1 (NVAr) b T DI TTHET R
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HH E. tir afdr @ #R1s H)

() | ofEre SRy 3,740

(i) | & (unsold stock) & gfa 600

Giiy | faent 10,625

(v) | %= A ®1Ha 2,625

(v) | UGSl BT IuMRT 500

(vi) |SUaH 400
(vii) | SrTaE #R 1,200

I -

I AN TR Y& G g (NVAe) = (i) + (i) = (iv) - (v) = {(vii) - (vi)} 1%
= 10,625 + 600 — 2,625 — 500 — {1,200 — 400} 1
= ¥ 7,300 BIS Vs

3Yar 3

(b) | foc=T & T LG TEA 3T (NFIA) T Y& Fid (X - M) & T 3R ¥ 1 |
IR - fA=T A Y[ PR T (NFIA), [ Y | UTed PR M R AT RAY H Ya= | 1%
P TS PR AT & AL PT 3 g

31 Frata (x-m) A ared aegan @ Jarsit & FHafa & geg iy axgei g Qaei & smard | 1%
ST S A S R I gl

12. | "quft IuHnT aRqu fewhTas Uiy 1 Bl § 1" SUgad ITeR0T R, SWRIad B BT gl
YT TS D1 |

SR - AT T Fy BT Te fHar 91 81 IuURT g 3 fedrss ok IR-fewrss &
*q # qiffepd far o aear 3 | R-fewrss suri awgen, o for @y uerd, droflaasa | 3
S g1 31 Tafe R ITHRT axgaf, o fr SR 3R W STV, BT IUANT
A= Uh 99 & 3ARI® TUg ao fHar o godr g1 gaferg, §ft sual axqu upfa &

feers 781 gt 7 (R SR B TP F1Y 3ifPd fbar )
13. | "B & §olc H, WPHR - lael-id UiRae- H GUR TUT TguuT H HH H- & oId THIC ex! |
T3 Tl Al & fmfor & for e sidfed far g1

JWRIad TRDR] Y B Yhid d SYD I5-4 B UgdH B |
%ﬂ;éﬁﬂﬂm$ﬂ?ﬁwmﬁm%ﬂﬁ7mWﬁWWﬁﬂfﬂ
|

WHR Foie T ST AT IR "TH:3Tde ST 3 | T W@ § =8 Ael arg-1 & fHmfor
& fo 491 rrdfed TP IWHR Ado-d IRag-/MUTR® IXTT § JUR, qafavor | 4
TEUUT Y HH H 3N YRUAT et fadTT &1 Te1a1 37 &1 T4 F3dl 71 39 UPR 39
Y GRT WWHR T9Y e faerd ok armiivre searor § g 3t 21

(IR SR B TS 1Y Sifdpd fovar o)

14. | A <fiforg, forelt erfcaawt & wrufiies ST 2 500 8, AfG MRf&d ruTd 25% ¢ | Sfdh gomett
SR YTd S ST RS TUT FA SUR (BT BT STAH Y|

S: fear man g,

ATYie ST = 3 500

SRTEA 3T = 25%
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S STHT = YT STHT x —~— 1

. SRIEA ST 1,
= 500 x — "
= % 2,000
D IYR (BUN) = P oA - UIUFHS STHT 1
= 2,000 - 500 Yy
=%¥1,500 1
4
15. | U 3rRfeaa®ITH; C = 200 + 0.75 Y (W81 C = IUHIT Y &, YT Y = AP 31 ©)
(@) | e = ¥ 4,000 FS B
fafefad o 7o o3
(i) ST BT IJAT TR
(if) 31T o T TR W Hd TN
Sw: fear man g,
C =200 +0.75Y
a1 309 = 4,000 TRV
ST foh g0 9IId €,
() M F IFET TR W, Y=C + | 11
Y= 200 + 0.75Y + 4,000 1
Y= % 16,800 RIS v,
(ii) 3T & A TR R F SUHNT T = 200 + 0.75 Y
= 200 + 0.75 (16,800) 1,
= 12,800 BIS 1y
3T 4

(b) | TR S9d & TR Ha=r ¥ 34 g4 @t [RUT H AN dF & ARST He |

IR OIF UATRIA g9, YariRrd 9w & e gidt 8, af 51 o 3 fp ey, wul gy
33T SUHNT A HH IUHRT HI ST AT TR & |

U HIAYH! (inventory) BT SFUTA HTg R AT & qifdd WR R AR b fag, | 4
IATeP, AJoqaxT A IAUTGH P FH B TPHd o | T8 UhAT 99 d& RI /M, o 95
g §gTd A g ST (T STR & TP 1Y 3ifdpd fpar )

16. | FEfRed e &1 Y e By

HET WY T IUHIGA A & A 3 el b, TWBHR 7 W axg3ft DI Ga (retail) DA B
i B & fore favra oo § &5 Giosy H&H 33U 5| I5iH Hal [P, WHR 1 Aed Y B
3o g & Trehar fort o Gerifr o1 e & 3@ 1 FdsR 2023 H Ga

5.55% o T H1g b J=IcTH R WR Ugd 718, Sl fob Wy yardl ot sigell Il o PRUI & | TR
2023 H GaRwifd 8 fiRm@e os &t 9 98 6.83% WR Ugd T8 | MaRI®H axgsel & diH
(wholes%qre);@aﬂ(retail)ujﬁwa@ﬁmﬁwﬁ%@ﬁwﬁ14o=|uq§qﬁ1m=ﬁ%b—;:
R |

WFHR A Mg, T Iad, TR-TH Tihe, ardd, WS 3Nfe F3 @ yerdf & fafd wR ufady
T o B 1 IR SYfef Y Trefed HRA & fo auT Hed gfg & Fifd ava & folg TReR A
feTeT @ gae WR 3fTd Yoo f HH R fear g

SWRIG T d T I & SMYR R FofaRad usll & 3w <

(a) TRPHR GRT I T He AR Ha B We sand|

FWR: % WWBR GRT 140 ¢ I FARTT e Ri1fa feg e §1 1

(b) TR 3MYfef P TeATRd B 9 G § Bl a1 & ol WBHR §RT IS T farg! &
fehd IR D1 Iehd De |

IR: T MY B WieATied B4 3R Yol § S A1 F T IR gIRTISTT W &
fera Iura AU &
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o TEd W TR A&yl & frafd wr ufasd) 1
o fadiE 3R T@e W 3maTd Yo | FHl| 1

(c) FEGBITA 1 (I bR & g g ot uep A Sura bt oare 3|

IR: YETEwiTd @1 FFrifd o= & forg, Fsfia 9 Yol ¥ § 9fs v awar g1
I &R ¥ gfes aiforfcus S&f &) St o1 o=i ¥ gf #e & e ooy woht, o | 3
BUT BT &3 A g AT $H YPR, T AT GRT SUYR A B FaleATigd fopdr SImea
3R 9P TNV TUT 4 & H 3wt 39 UPR, sidemawt ¥ garwifa #t

a1 it fosar < wwar g1
(IR IR DI TP 1Y Sifdra fbar wmg)
(310 PI5 URIFI® IUT & foram ot siwp weM fby o)

17. (i)w%hﬁmmwﬁqmmwwﬁwmaﬁMWﬁwmﬁﬁﬁ
(@) | AT LI
IR Yeu-a4+ faftr g1 Il o &7 enea #ed 9T SRt oM arelt graur=ar Ay

f
o TG a&I3N BT Y AT g1 fhar ST 1T Faifes S99 Sigd AT &t | 11y
T I gl B
o RTHI aEgail & faw! 3k T o aftifera T8 frar s ot wifd sad am | 114
Ty & srdforawt # a¥gali 3k Aarsii & varg # gf 7E et 21
(39 DI RIS ArauTt & Rrar W siw vee fPg o)
(@13 3T AY Ty foraed frg siw g wma)

_e(ﬁii_c)ﬂ'%sw qh TS IATE (GDP) T 37 Weg sifcaawut # aegasii &1 ufa aafad Sifd-Sudsdr
"

SIRIFI HY BT I <= & AN & HTV] & YADid & =0 H AT SUdT We B |

FR: U T HY= 1 W fhar wrar 2 | T ARy 8l 8 fb, e e SIS (GDP)
o g3 gfs, 9ue & it it & Hearur S U TU A guIfaa S| 09T 39fT @ b, 3
GDP ¥ % gf3 o & g1l #f e 311 3 safaaal & g, oma & &t 8Y 9« & foras
PR Ufa safed aegsi @ Suasar # gix 721 ot g aodl 81 Ot fRufa o, sididt o
gfs & STave Yl srdauawit & weumur # gfs 81 81 Il 3|

(X SR I T A1y Sifdwd fvar @)
3rYar 6
(b) | () YA IaTERUN GRI, Wieh g YaTg RN H 3R TF Be |
TR: XIh AR 39 TR B Hefid Hed 8, g 0 & U Aty g w amr sirar 31 1
JGTERUT: TP Huf Y
TATE TR 3 W1 B! Heid HId B, e THg ot T afl & SR |17 SIrat 3| 1
JETERT: AP 3 Y

(P13 3T WIS Igexvr & foran oft siw wer fdu o)

(if) TSI 3T (NNPxc) BT SITH T b1 3T fAftl & SR A’ & Uceh! bl oURAT B |
ITR: 3T (NNPrc) BT SIHT T B 3 A & SR a1y & ges:

. F: fArl (@ it &7 31 vl grRT sifSfa 3my uR & e ) 1

o IAARd WTYH: Freil 3R WRPRT Wi arelt WA gRT Sifold @Y ST a8 WIS | 1

IdEA & PRG| & i faaia g} forar smar g1

. ;mzmwgmmuvﬁmwmﬁ(q?ﬂ%mﬁlﬁ)%nwﬁam%mm 1

|
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s -9
(YR enfde faer)

18. | Ug 3IcUBIICI SRISATRI &, ST ATl & Ueb AT q GEsl A<l & S & BRI 37 gl 8
3 773 IRYUTYT & 3MTYR TR T SRIVATRT & YR &1 g HIod| (TgT fased &1 T B)
(A) U5 SRISATRY (B) HIGHT SRISITRY
(C) Jall SRISRTRY (D) TYUTHSD SRISHTRY
IR - (D) THUITHS SRISATRY

19. | fFEfaRad FY=I-3MUSBYT (A) T HRUT (R) BT AMYdD LA B | Ad fGU T fawedt d 4
g faseu &1 T Y-
SfHBHYA (A): 3TRIF JURT A 4, T GRT AHIOD WA R Ao d=T & TRUMRGEY
gk A4 fabr Ydhdd (HDI) UTed gU o |
PRI (R): T B3 AMY GBI Ghded! (HDI) H HRA g UTfhEd & 3T g
(A) SHRTBY (A) T BRI (R) ST T & YT BRYI (R), SHIBU () B &) e 21
(B) &r%%uﬁ (A) T BRUT (R) T T €, Afh- BRUT (R), HBUT (A) BT el RS 7!
GRGIR
(C) TUYBYT (A) T B, Afh BRI (R) 3 T
(D) 3IfHBYUT (A) 3T B, Afh=T PRI (R) I g
I - (B) AFHBYT (A) T BRI (R) GHI I @, AfPT PRI (R), SFUBYT (A) B! Tt
TS T81 HaT gl

20. | i fom &1 eagds sreqae e
w&gﬁﬁwﬁ,%ﬁﬁﬁmﬁﬁ%wémm
PR |
faoe:
A frafa gaeq ORELIGRIRRIIE]
(C) 3ITITd U8R (D) 3T UfRATIH
I - (D) SATd Ufa=ITa=
ﬁzﬁ?%@auamgf@ﬁquﬂ&nﬁq’r%mwmzo%ww%l

_ I R i B G w1 €, o 3ERd avgsit & TR SdTe & Hened

mwﬁaaﬁeﬁmﬁmaﬁmmél
(A Fafa dada (8) Frafa ufaira=
(C) 3MaTd Ufd=ITaq (D) 3T TR
IR - (C) 3maTd Ufa=ITIq

21. | Praq-1 ¥ fau Tt FAyfeRad uet &1 Hiad-11 | fou Tu o ¥ fiyem &

HIAH-1 HITH-1I
(a) AFG AP Fobdd (i) BT BT A
(b) SRS bad (i) TauTd Teur
(c) favy anfdfes & (iii) Stfafaa i nfafaferal o1 gom
(d) HRIA JUTTet (iv) ITfe® SHEmfaur
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faweu:
(A) (a) - (i) (B) (b) = (i)
(©) (c) — (iii) (D) (d) = (iv)

I - (C) (c) - (iii) 1
22. | FOfaRad Hy1-3MHYT (A) T BRU (R) BT AFYLGD I B Ad U T [qdhedi &

g faseu &1 T Y-

SARUBY (A): AFHG Golt Fafor anffep miafafea & S & yrfierd < & ofg Far g aur

3o fapT ) UieTed Har g

T(R):WRWQﬁWWﬁWW‘%M@WMHW

|

fa@we:

(A) THBYT (A) T BRUT (R) ST T § 9UT BRU (R), HBUT (A) BT el RS B

(B)%W(A)HW(R)%W%,WW(R),W%W(A)aﬁﬂﬁwqﬁ

GEGIR

(C) 3IBYT (A) T B, Afb BRI (R) AT B

(D) 3IfHBHYUT (A) 3T B, AfhT PRI (R) I B

I - (B) 3fHFHYT (A) T BRI (R) SHI T 8, AP HRUT (R), UfUFUT (A) FT TS| 1

TS 81 HaT gl
23. | uRd Fefefad & § g asta/afe onfie THg &1 Jow T8l 87

(A) f§&9 (BRICS) (B) TTh (SAARC)

(C) G-20 (D) G-7

I - (D) G-7 1
24. | AT UC AU BRIS PIUUMAG bs &3P ATl (To! [ddhed gRT Rad VI DI gl B )

(A) W. (B) SR

) fo<iig (D) fRreror

I - (B) 1
25. | fFEfafad R &1 siega &

wmﬁﬁwawﬁ,WWﬁﬁﬁmmﬁma@%l

(A)Wtﬂ% (B)m%

(@) (D)

IR - (B) TRV b 1

Ae: Frafafad uy Saa edafia wHenfiat & fore uy G@m 25 F R_E R 81

mwﬁ,ﬁyﬁr@aﬁﬁaﬁwﬁwcﬂuﬁmﬁmﬁﬁﬁ@@ﬁ%l

(A)ﬁ%ﬁ?-utcr?rrra@?ﬁtﬂmq

(B) UG8 & foru Sfiared S¢= &1 IuanT

(C) URURS I &1 ITANT

(D) S HHRE TS BT ITINT

IR - (B) TATaRU1 & fore siiarew g4+ &1 Iyt 1
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26. | FEfciRad Byl &1 H-YdD g B

PHYF-1: HRNG ik FAfId dTHRT HHARY T SHTHATD HHARY 81 Gobd B
HYF-2: HRA & T &5 F Fafd aaaintt At ISR 7 T T8 id B
feu U wyAl & selie #, Fufafad § 9 98t fawen o1 9g9 Sifve:

(A) BYT 1 I § 3R YT 2 3T B

(B) YU 1 3 § 3R HY 2 T g

(C) BYF 1 3R 2 S T B

(D) BUT 1 3R 2 T A B

T - (A) YT 1 T § 3R FYT 2 3 B 1
27. | A< QU T PleH-| T Hlem-11 H G T vl H ¥ Tl g &1 90 Y.

Pre-1 PIeH-I

(i) SUGH (a) STATA BT T Hh dTell I3 bl

i e AT

(i) Yfer e FefRor (b) IPR 1956 & dcd

(ili) T ST (c) TS & arail o o i

(iv) T ST F R FFYH () FHISTD VDIV H gRad
JYFDIHI

(A) () - (a) (B) (ii) — (b)

(© (i) = (0) (D) (iv) = (d)

3R - (D) (iv) - (d) 1

28. | ifc® Yol @ A4 Yol | 3faR WT B
IR: Hifa® geil o ulRufrl (w@ie ik w=ist, yae onfe) € S gd wpfa st gt €1 | 1%
wmwﬁﬁuwaﬁélmmﬁ%mmmél
A4 Yoit | aread 39& Wit # Hig[g 7, S iR Waar & SR A §, idfa ara | 1%
Yot 3 Tt A SfIUTy 31 39 IR | 31 ) o Wb dT, Fad 3T Aarsil H IR
H faet Ft o1 gt B

29. | fova Tvamafy § geeRt afufaal & gewpram g1
(@) | SIRIFd HYT BT Y WBIHRUT GRT NI g B
I GepR! Jffadl A frar & IR § v+ 3us & fore Sfa geu wr & o
Herdl &1 g1 graite, v ararafy #, 3% ®5 gHifadl ST JrH1 &1 ueT g, o
Fafafa e g 3
o PUD TH| BT AT JHERM
o AU 3R WiTHRr e r! Afufaal & fiw sruafw dey,

o Irpd foita gy (IR TR D1 TP 1Y Sifdbd foar vy
3T
(b) | et & Bt g & Trtor & B Fafid daunT SHaAl 3 HH W8I & e & HRON Bt
HRHAT B |

SR YRA |, W<t &A1 3t g & uredtor &= | fFrafira daaunht sdial ot Sen esq
T, Hif:
o iz unfior Frdad ya/IM@s €U | $iY iR g Hafda fafafey & ;
affrfera g1
o frafta IaaHhf AR F el & e Fiwra ok afvaar FY SrawgHar gidl 7,
i ATHTIE: I SEE & R gad T8 @ 2
(X SR B TP 1Y Sifdhd fvar o)
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30. aﬁm—cﬂaa{ﬁwawémﬁwmé?wﬁ'@W—ﬁ%’%ﬁ%%%aﬁwﬁ&mm
(a) J
IR Hifa FAatarsi gRT yRa @1 faer Torifa & - srer-fkar & dda Frasa sexa
& = | IruATan T, forae Fafafad aro 2
o fae=n R MRar 9 w3 & g @ "areEl &1 geM W SR & 4
o Tg 3T N smarfaa ey smyfd, fad=h menfiet aix fadzh ysht w= fafar
AR} fifoa d fagzh swaa # gfs % wodl 31
(X SR DI T 1Y Sifdwd fvar @)
3rYaT
(b) %ﬂgaﬁﬁzMWaﬁaﬁmaﬁ(GST)ﬁaﬁaﬁaﬁmﬁwﬁﬁwaﬁww
|
IR TG I AT PR (GST) TH Sl ATUD UL HX ¢ | SHUHSt & i, axgaii 3fx Farsii
& AT & UAP WU A o 9 & YR UR B AT AT 21 SO axgeii b | 4
IcTe1/fasPt a1 AT & WU UR T T ISt HRAT | U F| D1 U B
fear 81 39 yoR, Svad) tewudr Rfa #vdr 8, % &7 a3 $H Hdl §, QuHEA
(Cascading) WHTA! UR AP TTET 8, MR TN &1 A ATUR H3 b1 AT ot ggar |
(X SR DI Tw A1y Sifdbd fvar @)

31, %"%E@aﬁﬁagwﬁ@aﬁﬁHamu%ﬂsﬁ$wu-quawmﬁwﬁa
"

SWRIFd HYU DI 34 dPb GRT THIOIT B

IR - UgTS! &1 H, AURIPIR 3R IRURA g1d 1 Y 9 fagga T T R\ 1 St
BT IUANT Bl caisl & Ia & fore Hea g, o fastelt Idurea wva & iR forgesT Iught
WY TR W fBar o1 godr g1 s9& ifalad, 99 forel 49U sHaw wafarur & | 3
3IPd gld & Fifb, T Y - ITANT Yurrell H HIg ufead T8l ®ed g1 A &, 3 98 T
TR HOR 2TaR] 3R dRI &1 Mazysddl &1 W HHIW $d &1 59 YR, HARUI B gIf= I
B AN YU g gl It 81 ([ SR &1 T 1Y 3ifdpa favar =)

(b) T &HdT B GRHTT B |

SR - T &1 T a1y @ o, Fare frspdur &t ¥ 39 (e PR A FATEAT | 1
ST IUT UfRAY HT IUTS yafavur &} Gy &Har & Hiaw Ig-1 Tifee|

32. | urfhea™ gRT 3+ 3ifes faem Uy & ol IoTY T fadhriTeTd HeH! &l guiH &Y |

IR: UIfpE A Frdo-a 3R i &t & We-ifead & a1y v e srferawn
ATST P SUTIT AT | AT HARITI- e Sienfire oo giaféa v & fore faftm
TR & fafafia o TRE urRy & 7 4t

ga wifd & TRY 3 $Y ulibare ¥ w=xii-itezur &t gwema o1 sl R & | 4
Arder=re fFa=r § gfes A S w@==n &1 w1t aikafda foear 311 e 3 o= geivra
g3t & I &1 it IR fHar uni agwia, Fefievo o vienfed s & g

3Tffe JUR IR= e TU|
(X TR &I T 91Y 3ifrd favar wimg)

33. | FofaRad T &1 eaFYde S Y

FHV-wTE3T g AT IgH HRT B Jri0T faerg & forg diadr & Agayul g ST 38 &1 4 HRd
o yreftor & T 3 arelt TR Ao &1 TEY™ URdd R & 1 A ITH I B, (T-3nenid
AR goeht @ Set snenfka o A aTe IUBHRUr S deHiie! AR d1d 8, S SdTehdT d
T gerdT B gfg dd & |

YLt Yaaaft Bl AU TP d U ToR § WU RIS I d | & forg Sfd
e fAufRor YR s § aur uRuRe faifert wR FalRar ot 0 #va €1 T Iew andior
& ¥ AR Yo ¥ Wichd U ¥ ANGH UGH HRd g1 IRBR A RKVY-RAFTAAR, F
SIERTAT DY TUT Agri-SURE 3117 faftr sriedl & d1eqd ¥ Sy wercsidl 9 Il & o
R i 7 facia Jerar &1 ue=F fear 3|
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JURIE T 9 HHHI I & STYR TR HHfRad U8l & I o
g{g?@&ﬁﬁ?%WW—WWﬁ%ﬂﬁ@ﬁﬂﬁmﬁﬁﬁmwmw
|
IWR: PA-TWIEAT Y &7 &1 FAfaal &1 T 39 UPR TRgd Pd &
o THAI®! TAER WY fb I @elt, IT-3nurRa AR yoredt 8k Ser-smerfa 4
fArota a4 ara IuwUTI
o IMYfd Yemaii & YA RIT HAT 3R TIel TR WD RITUT HeT foreaa

JgaR g FHufRor gt awar 21
(X SR I T A1y Sifdwd fvar @)
(b) YR & HY T3l T ITHAT BT THL ¢ § WPHR DT YHPHT IR fewoft s |
FTR: AR 7 RKVY-RAFTAAR, BN S@ETT HIW TUT Agri-SURE S fafta erdfepat | -
& A1 ¥ F-Wrds R Saftal & fore fFRar Hifa oix faxfta werar &1 wexi=
fFar 3 (R SR B TP 1Y 3ifPpd fHar s

34. | AT HRUT GRT IARIT B3 10, FETRIRAT HUT U § AT 3 -

(@) | (i) SRS BT & SHdid, WaNTd Hd &hd P AR b HRU HY & & 3ig g8 |
SR YA I 2| NUafRre &1a & SR $Y Sdremar § di fiRmae o, afeawiy | 2
3T &7 7 3 g8 e srRuI 3 87 A 9o gfa T@ )

(i) oy IR 1o+ o1 Ie=y fay samuR & e smurlkd soawr wifid s 8l
W-HWHW%Iﬁ%WW(WTO)WB%WWﬁW-GHWRHWW 2
wﬁam%ﬁﬂﬁ% JARTPIY AMIR W AFAH Yfaay 781 o wova anfes fay

ATl & FTAH U o1 JATAd frar o g iR watarur &1 38 1 o o 9& |

(iif) & SITATAT & I M faHwra yRd H Ao &1 ugE a6 Tl
IR: YA 3 21 & JuHar & 91y Snfde fae R A FasA sTyg@asa | o
Y| SHPT I ST AT B FH HIA & e s &= & ST &1 ggmar ¢
T

STYdr 6

(b) | () SR WY DY

(1) URIeP T UYL MRIUD
FTR: UR[EP AARNYD BR| b U W TRPR GRT AT R MY 7T yfaaei d deRfadd | 1%
g1 TafP, AVREP ARIUP PRI & AT 3 TU T IPR GRT ST IR T T
wiasy g, o @1 & U J Smanfad axgaii @1 umEr iR uras W uiaaey i §1

(2) feuefta g sguela =R
IR: fgueha omuR | areqd & 3wl & fie axgait ofk qareii & meM-IeA P F R | 11
far oA aTe UR | 81 Siafe, Igueliy SR U SR g1 & 9 it 3= & 1y
qeg3it MR Farsit &1 eM-USH H & fore fvar WM arar R 81

(ii) "G IIT DI TS AN & [9vG T & Had BI HATIgHal g 1"
JWRIad HY & 3HTelldb B, 39 fa= F DR gRI IS T Hedl ol f[IwR 9 93|
FR: Y SN (SSls) B TIH & AT IRPR §RT IoTT 7T HeH 59 PR 3
o P3 IAG! BT IUTG oY SN & fore smRfera foram mam, <Y 371 axgait & fHfor
@1 @ &ar W F1R FRar 31 3
o T BH IUG YFh 3R FH TS G| IR 95 HUT o=t Fgraemg & )
(X SR D! Te A1y Sifpd fvar wirg)

% %k ¥
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